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�! (10©) �äK§�(�^
√
L«§�Ø�^×L«. �©

(1) �¼êf(x, y)3:(0, 0)?��§Kk

A. f(x, y)3:(0, 0)?ëY¶ (
√

)

B.f(x, y)3:(0, 0)�����S�3 �ê
∂f

∂x
!
∂f

∂y
; (×)

C.
∂f

∂x
!
∂f

∂y
3:(0, 0)?ëY. (×)

(2) �¼êf(x, y)3R2þk½Â§�äk��ëY �ê. P I = [0, 1]× [0, 1].

A. �3(x0, y0) ∈ I ¦�
∫∫

I

f(x, y)dxdy = f(x0, y0). (
√

)

B. �3(x0, y0) ∈ I ÷v f(1, 1)− f(0, 0) =
∂f

∂x
(x0, y0) +

∂f

∂y
(x0, y0); (

√
)

�! (10©) lim
n→∞

∫ 1

0

1
n
√

1− xn
dx. �©

). Ì�´/ÏBeta¼êÚ{�úª.

�ª = lim
n→∞

∫ 1

0

t
1
n
−1(1− t)− 1

n

n
dt = lim

n→∞

1

n
B(

1

n
, 1− 1

n
) · · · · · · 5 ©

= lim
n→∞

1

n
Γ(

1

n
)Γ(1− 1

n
) = lim

n→∞

π/n

sin(π/n)
= 1. · · · · · · 5 ©



n! (16©) ò¼êf(x) = x3[0, π]þÐm¤{u?ê§¿O� �©

∞∑
n=1

1

(2n− 1)2
,

∞∑
n=1

1

(2n− 1)4
,

∞∑
n=1

sin(2n− 1)x

(2n− 1)3
.

). 1�Úµò f(x) = x Ðm¤{u?ê§ké f(x) ?1óòÿ§l
k

f(x) ∼ a0

2
+
∞∑
n=1

an cos(nx), (éAubn = 0) · · · · · · 2 ©

Ù¥

a0 =
2

π

∫ π

0

x dx =
2

π

[
x2

2

]π
0

=
2

π
· π

2

2
= π, · · · · · · 1 ©

an =
2

π

∫ π

0

x cos(nx) dx =
2

π

(
(−1)n

n2
− 1

n2

)
=

2

π
· (−1)n − 1

n2
, · · · · · · 2 ©

(ÜDirichlet½n��§{u?ê�µ

x =
π

2
− 4

π

∞∑
k=1

cos((2k − 1)x)

(2k − 1)2
, x ∈ [0, π] · · · · · · 2 ©.

1�Úµrx = 0�\þª��

∞∑
k=1

1

(2k − 1)2
=
π2

8
. · · · · · · 2 ©

1nÚµ|^ Parseval�ª��µ

1

π

∫ π

0

x2 dx =
a2

0

4
+

1

2

∞∑
n=1

a2
n. · · · · · · 2 ©

l
kµ
∞∑
k=1

1

(2k − 1)4
=
π4

96
. · · · · · · 2 ©

1oÚµ3[0, x]þÈ©{u?êz{��

∞∑
n=1

sin((2n− 1)x)

(2n− 1)3
=
π

4

(
π

2
x− x2

2

)
=
π2

8
x− π

8
x2. · · · · · · 3 ©



o! (12©) �­�L´d y = x, y = 4x, xy = 1, xy = 431���¤�¤«�D��

�>.§O� �©∫
L

v · dr, v =

(
0,
f(xy)

y

)
,

Ù¥¼êf(x)3[1, 4]þëY���f(1) = f(4).

). |^GreenúªÚf(1) = f(4)��µ∫
L

f(xy)

y
dy =

∫∫
D

f ′(xy)dxdy =

∫ 1

1
2

dx

∫ 4x

1
x

f ′(xy)dy +

∫ 2

1

dx

∫ 4
x

x

f ′(xy)dy = 0.

5Pµ�(¦^Greenúª�5©§�(O��­È©�7©"�­È©�O���

±^��{§Xµu = xy, v = y
x
�.

Ê! (12©) �Σ´­¡z = x2 + y2§0 ≤ z ≤ 1§½��z¶�Y��b�§O�

�©

I =

∫∫
Σ

F · dS, F = (2x+ z, 0, 4z).

�{�! ��ÝK�xoy²¡k

I =

∫∫
x2+y2≤1

[4(x2 + y2)− 2x(2x+ x2 + y2)] dxdy = π.

�{�! 5¿� Σ Ø´4Ü­¡§I�Öþº¡ Σ1µz = 1eý¦Ù4Ü"

� S = Σ ∪ Σ1§K S ´4Ü­¡§�Sý"dpdúªµ

∫∫
S

F · dS = −
∫∫∫

V

6 dV = −6 · Volume of V = −3π,

ù´Ï�µNÈ V ´ z = x2 + y2 l z = 0 � z = 1 �m�Ü©

Volume =

∫∫
x2+y2≤1

(1− (x2 + y2)) dxdy =

∫ 2π

0

∫ 1

0

[(1− r2)r] drdθ =
π

2
.



y3O�
∫∫

Σ1
F · dS"Σ1 ´ z = 1eý§{�þ� (0, 0,−1)§¤±µ∫∫

Σ1

F · dS =

∫∫
Σ1

4z dxdy = −2

∫∫
x2+y2≤1

1 dxdy = −4π.

Ïd ∫∫
Σ

F · dS =

∫∫
S

F · dS−
∫∫

Σ1

F · dS = −3π + 4π = π.

5Pµ(1) ÝK�(�6©§�Y�(2�6©¶(2) ¬^Gaussúª�6©§�Y�

(6©"XJO�L§¥��ÎÒ§�2©"

8! (12©)�¼êf(x, y)3[0, 1]×[0, 1]þëY��§�f(0, 0) = 0§O� �©

I = lim
x→0+

∫ x2

0

dt

∫ x

√
t

f(t, u) du

1− e−x4

4

.

). 5¿�f(x, y)3[0, 1]× [0, 1]þëY��§Ïd�3~êM > 0§¦�∣∣∣∣∣
∫ x2

0

(f(t, x)− f(0, x))dt

∣∣∣∣∣
x3

=

∫ x2

0

|f ′1(ξ, x)|t dt

x3
≤ M

2
x. · · · · · · 3 ©

^â7�{K��:

I = lim
x→0+

∫ x2

0

f(t, x)dt

x3e−
x4

4

= lim
x→0+

∫ x2

0

f(t, x)dt

x3
· · · · · · 5 ©

= lim
x→0+

f(0, x)− f(0, 0)

x
+ lim

x→0+

∫ x2

0

(f(t, x)− f(0, x))dt

x3

= f ′y(0, 0). · · · · · · 4©



Ô! (10©) �½�1w­¡Σ�L¡È�σ(Σ)§Ù>.Γ´½�µ41w­�. Áyµ∣∣∣∣∮
Γ

ydx+ zdy + xdz

∣∣∣∣ ≤ √3σ(Σ).

y². �­¡Σ�ü {�þ�n§dStokesúªÚCauchy-SchwarzØ�ª�µ∣∣∣∣∮
Γ

ydx+ zdy + xdz

∣∣∣∣ =

∣∣∣∣∫∫
Σ

dydz + dzdx+ dxdy

∣∣∣∣ · · · · · · 4 ©

=

∣∣∣∣∫∫
Σ

(1, 1, 1) · ndS
∣∣∣∣ · · · · · · 3 ©

≤
∣∣∣∣∫∫

Σ

|(1, 1, 1)||n|dS
∣∣∣∣ =
√

3σ(Σ). · · · · · · 3 ©

l! (18©) �¼ê f(x, α) =
arctan(αx)

x2
√
x2 − 1

§- ψ(α) =

∫ +∞

1

f(x, α) dx. �©

(1) Áyµéz���½� α ≥ 0§2ÂÈ©

∫ +∞

1

f(x, α) dx Âñ¶

(2) Áyµ¹ëCþ2ÂÈ©

∫ +∞

1

∂f(x, α)

∂α
dx'uα3α ≥ 0þ��Âñ¶

(3) O� ψ(α)§Ù¥α ≥ 0.

y². (1) krÈ©
©¤üÜ©µ∫ +∞

1

f(x, α) dx =

∫ 2

1

f(x, α) dx+

∫ +∞

2

f(x, α) dx.

�α = 0�§f(x, 0) = 0§È©w,Âñ. Ø��α > 0, 5¿�

• � x→ +∞�§f(x, α) ∼ π

2x3
§È©

∫ +∞

2

1

x3
dxÂñ. · · · · · · 3©

• �x→ 1+�§f(x, α) ∼ arctan(α)√
2(x− 1)

§È©

∫ 2

1

1√
x− 1

dx´Âñ�. · · · · · · 3 ©

l
�2ÂÈ©

∫ +∞

1

f(x, α) dxÂñ.

(2) 5¿�

∫ +∞

1

1

x
√
x2 − 1

Âñ�

∣∣∣∣∂f∂α
∣∣∣∣ =

∣∣∣∣ 1

x
√
x2 − 1(1 + α2x2)

∣∣∣∣ ≤ 1

x
√
x2 − 1

,



dWeierstrass�O{�§¹ëCþÈ©

∫ +∞

1

∂f

∂α
dx3α ≥ 0þ��Âñ. · · · · · · 5 ©

(3) |^1(2)¯�(J§�±��È©Ú�ê�^S

ψ′(α) =

∫ +∞

1

∂f

∂α
dx =

∫ +∞

1

1

x
√
x2 − 1(1 + α2x2)

dx. · · · · · · 2 ©

=

∫ π/2

0

1

1 + α2 sec2 θ
dθ -x = sec θ, t = tan θ

=

∫ +∞

0

1

1 + α2(1 + t2)

dt

1 + t2
=
π

2

(
1− α√

1 + α2

)
. · · · · · · 3 ©

(Üψ(0) = 0k§ ψ(α) =
π

2

(
1 + α−

√
1 + α2

)
. · · · · · · 2 ©


